

Appendix to “On nonlinear convection in mushy layers. Part 2. Mixed oscillatory and stationary modes of convection”

By D. N. Riahi

Journal of Fluid Mechanics, vol. 517 (2004), pp. 71-102

This material has not been copy-edited or typeset by Cambridge University Press; it format is entirely the responsibility of the author.

Appendix B

The expressions for the solutions V_{10} , θ_{10} and ϕ_{10} are given below

$$(V_{10}, \theta_{10}) = \sum_{l_p=-N}^N [(B_{lp}^{(0)}, E_{lp}^{(0)})(A_l^+ A_p^+ \eta_l^+ \eta_p^+ + A_l^- A_p^+ \eta_l^- \eta_p^+ + B A_l A_p^+ \eta_l \eta_p^+) + (B_{lp}^{(0)*}, E_{lp}^{(0)*})(A_l^+ A_p^- \eta_l^+ \eta_p^- + A_l^- A_p^- \eta_l^- \eta_p^- + B A_l A_p^- \eta_l \eta_p^-) + B(B_{lp}^{(s)}, E_{lp}^{(s)})(A_l^+ A_p \eta_l^+ \eta_p + A_l^- A_p \eta_l^- \eta_p + B A_l A_p \eta_l \eta_p)], \quad (B1a)$$

$$\phi_{10} = \sum_{l_p=-N}^N [f_{lp}^{(11)} A_l^+ A_p^+ \eta_l^+ \eta_p^+ + f_{lp}^{(12)} A_l^+ A_p^- \eta_l^+ \eta_p^- + f_{lp}^{(21)} A_l^- A_p^+ \eta_l^- \eta_p^+ + f_{lp}^{(22)} A_l^- A_p^- \eta_l^- \eta_p^- + B(f_{lp}^{(10)} A_l^+ A_p \eta_l^+ \eta_p + f_{lp}^{(20)} A_l^- A_p \eta_l^- \eta_p + f_{lp}^{(01)} A_l A_p^+ \eta_l \eta_p^+ + f_{lp}^{(02)} A_l A_p^- \eta_l \eta_p^-) + B f_{lp}^{(00)} A_l A_p \eta_l \eta_p] + \sum_{m=-N}^N (f_m^+ A_m^+ \eta_m^+ + f_m^- A_m^- \eta_m^- + g_m^+ A_m^+ \eta_m^+ + g_m^- A_m^- \eta_m^- + g_m A_m \eta_m), \quad (B1b)$$

where the coefficient functions $B_{lp}^{(0)}$, $E_{lp}^{(0)}$, $B_{lp}^{(s)}$ and $E_{lp}^{(s)}$, which are introduced in (B1a), have the following expressions:

$$(B_{lp}^{(0)}, E_{lp}^{(0)}) = (B_{lp}^{(0)}, E_{lp}^{(0)}) + (B_{lp}^{(1)}, E_{lp}^{(1)}) \cos(2\pi z) + (B_{lp}^{(2)}, E_{lp}^{(2)}) \sin(2\pi z) + (B_{lp}^{(3)}, E_{lp}^{(3)}) \cos(\pi z) \exp[i\omega_{01} S_p(z-1)] + (B_{lp}^{(4)}, E_{lp}^{(4)}) \sin(\pi z) \exp[i\omega_{01} S_p(z-1)], \quad (B2a)$$

$$(B_{lp}^{(s)}, E_{lp}^{(s)}) = (B_{lp}^{(5)}, E_{lp}^{(5)}) \sin(2\pi z) + (B_{lp}^{(6)}, E_{lp}^{(6)}) \sin(\pi z). \quad (B2b)$$

Here

$$(B_{lp}^{(0)}, E_{lp}^{(0)}) = (1, a_{lp}^2 \sqrt{G}) C_1 \exp(r_{lp}^{(1)} z) + (1, a_{lp}^2 \sqrt{G}) C_2 \exp(-r_{lp}^{(1)} z) + (1, -a_{lp}^2 \sqrt{G}) C_3 \exp(r_{lp}^{(2)} z) + (1, -a_{lp}^2 \sqrt{G}) C_4 \exp(-r_{lp}^{(2)} z) + (1, -GR_{00}) L_{lp}^{(2)} \quad \text{for } \psi_{lp} \neq \pm 1, \quad (B2c)$$

where

$$\begin{aligned}
a_{lp}^2 &\equiv 2\pi^2(1+\psi_{lp}), r_{lp}^{(1)} \equiv (a_{lp}^2 + \sqrt{G R_{00} a_{lp}})^{0.5}, r_{lp}^{(2)} \equiv (a_{lp}^2 - \sqrt{G R_{00} a_{lp}})^{0.5}, L_{lp}^{(2)} \equiv i \omega_{01} K_1 S_p \pi^3 / [C \\
&G \sqrt{G(\pi^2 - \omega_{01}^2)}(a_{lp}^2 - G R_{00}^2)], C_1 \equiv [M_{lp}^{(1)} \exp(-r_{lp}^{(1)}) - M_{lp}^{(3)}] / [\exp(r_{lp}^{(1)}) - \exp(-r_{lp}^{(1)})], \\
C_2 &\equiv [M_{lp}^{(1)} \exp(r_{lp}^{(1)}) - M_{lp}^{(3)}] / [\exp(r_{lp}^{(1)}) - \exp(-r_{lp}^{(1)})], C_3 \equiv [M_{lp}^{(2)} \exp(-r_{lp}^{(2)}) - M_{lp}^{(4)}] / [\exp(r_{lp}^{(2)}) - \\
&\exp(-r_{lp}^{(2)})], C_4 \equiv [M_{lp}^{(2)} \exp(r_{lp}^{(2)}) - M_{lp}^{(4)}] / [\exp(r_{lp}^{(2)}) - \exp(-r_{lp}^{(2)})], M_{lp}^{(1)} \equiv 0.5[\sqrt{G R_{00} L_{lp}^{(2)}} / \\
&a_{lp}^2 - L_{lp}^{(2)} + L_{lp}^{(3)} + L_{lp}^{(4)}], L_{lp}^{(3)} \equiv -B_{lp}^{(1)} - B_{lp}^{(3)} \exp(-i\omega_{01} S_p), L_{lp}^{(4)} \equiv [-E_{lp}^{(1)} - E_{lp}^{(3)} \exp(-i\omega_{01} S_p)] / \\
&a_{lp}^2, M_{lp}^{(2)} \equiv 0.5[-\sqrt{G R_{00} L_{lp}^{(2)}} / a_{lp}^2 - L_{lp}^{(2)} + L_{lp}^{(3)} - L_{lp}^{(4)}], M_{lp}^{(3)} \equiv 0.5[\sqrt{G R_{00} L_{lp}^{(2)}} / a_{lp}^2 - L_{lp}^{(2)} + L_{lp}^{(5)} \\
&+ L_{lp}^{(6)}], L_{lp}^{(5)} \equiv -B_{lp}^{(1)} + B_{lp}^{(3)}, L_{lp}^{(6)} \equiv (-E_{lp}^{(1)} + E_{lp}^{(3)}) / a_{lp}^2, M_{lp}^{(4)} \equiv 0.5[-\sqrt{G R_{00} L_{lp}^{(2)}} / a_{lp}^2 - L_{lp}^{(2)} + \\
&L_{lp}^{(5)} - L_{lp}^{(6)}]; \tag{B2d}
\end{aligned}$$

$$\begin{aligned}
B_{lp}^{(0)} &= R_{00} [a_{lp}^2 (L_{lp}^{(6)} - L_{lp}^{(4)}) z^3 / 6 + a_{lp}^2 L_{lp}^{(4)} z^2 / 2] + L_{lp}^{(1)} z^2 / 2 + \{-L_{lp}^{(3)} - 0.5 L_{lp}^{(1)} - R_{00} [a_{lp}^2 (L_{lp}^{(6)} - \\
&L_{lp}^{(4)}) / 6 + a_{lp}^2 L_{lp}^{(4)} / 2] + L_{lp}^{(5)}\} z + L_{lp}^{(3)} \text{ for } \psi_{lp} = -1, E_{lp}^{(0)} = a_{lp}^2 (L_{lp}^{(6)} - L_{lp}^{(4)}) z + a_{lp}^2 L_{lp}^{(4)} \text{ for } \psi_{lp} \\
&= -1, \tag{B2e}
\end{aligned}$$

where

$$L_{lp}^{(1)} \equiv -i\omega_{01} \pi^3 S_p K_1 / [CG \sqrt{G(\pi^2 - \omega_{01}^2)}]; \tag{B2f}$$

$$\begin{aligned}
B_{lp}^{(0)} &= C_5 \exp(r_{lp}^{(1)} z) + C_6 \exp(-r_{lp}^{(1)} z) + C_7 z + C_8 + 0.25 L_{lp}^{(1)} z \text{ for } \psi_{lp} = 1, E_{lp}^{(0)} = 2\pi \sqrt{G} [C_5 \\
&\exp(r_{lp}^{(1)} z) + C_6 \exp(-r_{lp}^{(1)} z) - C_7 z - C_8] - \sqrt{G} L_{lp}^{(1)} (0.5\pi z^2 + 0.25/\pi) \text{ for } \psi_{lp} = 1, \tag{B2g}
\end{aligned}$$

where

$$\begin{aligned}
C_5 &\equiv [L_{lp}^{(8)} - L_{lp}^{(7)} \exp(-r_{lp}^{(1)})] / [\exp(r_{lp}^{(1)}) - \exp(-r_{lp}^{(1)})], L_{lp}^{(7)} \equiv 0.5 L_{lp}^{(3)} + L_{lp}^{(4)} a_{lp}^2 / (4\pi \sqrt{G}) + L_{lp}^{(1)} \\
&/ (16\pi^2), L_{lp}^{(8)} \equiv 0.5 L_{lp}^{(5)} + L_{lp}^{(6)} a_{lp}^2 / (4\pi \sqrt{G}) - L_{lp}^{(1)} [1/8 - \pi \sqrt{G} / 4 - \sqrt{G} / (8\pi)], C_6 \equiv [L_{lp}^{(7)} \exp(r_{lp}^{(1)}) \\
&- L_{lp}^{(8)}] / [\exp(r_{lp}^{(1)}) - \exp(-r_{lp}^{(1)})], C_7 \equiv -C_5 \exp(r_{lp}^{(1)}) - C_6 \exp(-r_{lp}^{(1)}) - C_8 - 0.25 L_{lp}^{(1)} + L_{lp}^{(5)}, C_8 \equiv - \\
&L_{lp}^{(7)} + L_{lp}^{(3)}; \tag{B2h}
\end{aligned}$$

$$B_{1p}^{(1)} = \{-2i\omega_{01}S_p K_1 \pi^3 / [CG\sqrt{G(\pi^2 - \omega_{01}^2)}]\} / \{a_{1p}^2 + 4\pi^2 - GR_{00}a_{1p}^2 / (a_{1p}^2 + 4\pi^2)\}, E_{1p}^{(1)} = -GR_{00}a_{1p}^2 B_{1p}^{(1)} / (a_{1p}^2 + 4\pi^2); \quad (B2i)$$

$$B_{1p}^{(2)} = \{\pi^2(1 - \psi_{1p}) - 2K_1\pi^4(a_{1p}^2 + 4\pi^2) / [R_{00}CG\sqrt{G(\pi^2 - \omega_{01}^2)}]\} / \{GR_{00}a_{1p}^2 - (a_{1p}^2 + 4\pi^2)^2 / R_{00}\}, E_{1p}^{(2)} = 2K_1\pi^4 / [R_{00}CG\sqrt{G(\pi^2 - \omega_{01}^2)}] - (a_{1p}^2 + 4\pi^2)B_{1p}^{(2)} / R_{00}; \quad (B2j)$$

$$E_{1p}^{(3)} = E_{1p}^{(4)} = 0 \text{ for } \psi_{1p} = -1, B_{1p}^{(3)} = -i\omega_{01}S_p K_1 \pi^3 (\omega_{01}^2 - 5\pi^2) / [CG\sqrt{G(\pi^2 - \omega_{01}^2)}]^3 \text{ for } \psi_{1p} = -1, B_{1p}^{(4)} = K_1\pi^4(3\pi^2 + \omega_{01}^2) / [CG\sqrt{G(\pi^2 - \omega_{01}^2)}]^3 \text{ for } \psi_{1p} = -1; \quad (B2k)$$

$$(E_{1p}^{(3)}, E_{1p}^{(4)}) = [(C_9C_{13} - C_{11}C_{15}), (C_{10}C_{15} - C_9C_{12})] / (C_{10}C_{13} - C_{11}C_{12}) \text{ for } \psi_{1p} \neq -1, (B_{1p}^{(3)}, B_{1p}^{(4)}) = \{E_{1p}^{(3)}[(-a_{1p}^2 - \pi^2 - \omega_{01}^2), (-2i\omega_{01}S_p\pi)] + E_{1p}^{(4)}[(2i\omega_{01}S_p\pi), (-a_{1p}^2 - \pi^2 - \omega_{01}^2)]\} / (GR_{00}a_{1p}^2) \text{ for } \psi_{1p} \neq -1, \quad (B2l)$$

where

$$C_9 \equiv i\omega_{01}S_p K_1 \pi^3 a_{1p}^2 / [CG\sqrt{G(\pi^2 - \omega_{01}^2)}], C_{10} \equiv C_{13} \equiv -a_{1p}^2 R_{00} + [(a_{1p}^2 + \pi^2 + \omega_{01}^2) + 4\omega_{01}^2 \pi^2] / GR_{00}, C_{11} \equiv -4i\omega_{01}S_p \pi (\pi^2 + \omega_{01}^2 + a_{1p}^2) / GR_{00} \equiv -C_{12}, C_{14} \equiv -3K_1\pi^4 a_{1p}^2 / [CG\sqrt{G(\pi^2 - \omega_{01}^2)}]; \quad (B2m)$$

$$B_{1p}^{(5)} = [\pi^2(1 - \psi_{1p}) - 2K_1\pi^2(a_{1p}^2 + 4\pi^2) / (CG\sqrt{G R_{00}})] / [GR_{00}a_{1p}^2 - (a_{1p}^2 + 4\pi^2)^2 / R_{00}], E_{1p}^{(5)} = 2K_1\pi^2 / (CG\sqrt{G R_{00}}) - (a_{1p}^2 + 4\pi^2)B_{1p}^{(5)} / R_{00}; \quad (B2n)$$

$$B_{1p}^{(6)} = 3K_1\pi^2(a_{1p}^2 + \pi^2) / \{CG\sqrt{G} [(a_{1p}^2 + \pi^2)^2 - GR_{00}^2 a_{1p}^2]\}, E_{1p}^{(6)} = -GR_{00} a_{1p}^2 B_{1p}^{(6)} / (a_{1p}^2 + \pi^2). \quad (B2o)$$

The coefficient functions f_m^+ , f_m^- , g_m^+ , g_m^- , g_m and $f_{1p}^{(ij)}$ ($i, j = 0, 1, 2$), which are given in (B1b), have the following expressions:

$$f_m^+ = \{-2\pi^3 \omega_{11} / [CG(\pi^2 - \omega_{01}^2)^2]\} \{iS_m[(\pi^2 + \omega_{01}^2) / \pi] \sin(\pi z) + 2\omega_{01} \cos(\pi z) + [2\omega_{01} + iS_m(z-1)(\pi^2 - \omega_{01}^2)] \exp[i\omega_{01}S_m(z-1)]\}, f_m^- = f_m^{+*}; \quad (B3a)$$

$$g_m^+ = \{-R_{10}\pi / [C\sqrt{G(\pi^2 - \omega_{01}^2)}]\} \{\pi \cos(\pi z) + i\omega_{01}S_m \sin(\pi z) + \pi \exp[i\omega_{01}S_m(z-1)]\}, g_m^- = g_m^{+*}, g_m = -R_{10}[\cos(\pi z) + 1] / (C\sqrt{G}); \quad (B3b)$$

$$f_{lp}^{(ij)} = -\langle H_{lp}^{(ij)} \exp(-h_{lp}^{(ij)} z) \rangle_1 \exp(-h_{lp}^{(ij)} z) + \langle H_{lp}^{(ij)} \exp(h_{lp}^{(ij)} z) \rangle_z \exp(-h_{lp}^{(ij)} z)$$

$$(i, j=0, 1, 2), \quad (B3c)$$

where

$$\langle f \rangle_z \equiv \int_0^z f dz, \quad \langle f \rangle_1 \equiv \int_0^1 f dz, \quad (h_{lp}^{(00)}, H_{lp}^{(00)}) \equiv \{0, [R_{00} a_{lp}^2 B_{lp}^{(s)} - \pi^2 \sin(2\pi z)(1-\psi_{lp})/G]/C\},$$

$$(h_{lp}^{(10)}, H_{lp}^{(10)}) \equiv \{-i\omega_{01} S_l, H_{lp}^{(00)}\}, \quad (h_{lp}^{(20)}, H_{lp}^{(20)}) \equiv \{i\omega_{01} S_l, H_{lp}^{(00)}\}, \quad (h_{lp}^{(01)}, H_{lp}^{(01)}) \equiv \{-i\omega_{01} S_p,$$

$$[R_{00} a_{lp}^2 B_{lp}^{(o)} - \pi^2 \sin(2\pi z)(1-\psi_{lp})/G]/C\}, \quad (h_{lp}^{(02)}, H_{lp}^{(02)}) \equiv \{h_{lp}^{(01)*}, H_{lp}^{(01)*}\}, \quad (h_{lp}^{(11)}, H_{lp}^{(11)}) \equiv \{-$$

$$i\omega_{01}(S_l + S_p), H_{lp}^{(01)}\}, \quad (h_{lp}^{(12)}, H_{lp}^{(12)}) \equiv \{-i\omega_{01}(S_l - S_p), H_{lp}^{(01)*}\}, \quad (h_{lp}^{(21)}, H_{lp}^{(21)}) \equiv \{h_{lp}^{(12)*},$$

$$H_{lp}^{(01)}\}, \quad (h_{lp}^{(22)}, H_{lp}^{(22)}) \equiv \{h_{lp}^{(11)*}, H_{lp}^{(01)*}\}. \quad (B3d)$$

